Make: Subaru
Model: 2015+ QOutback
Applications: Rally Light Bar

PACKAGE CONTENTS

TOOLS

QTY QTY

Rally Light Bar

Upper Bracket

Lower Brace

5/16” Bolt Plate

5/16” Flat Washer USS
5/16” Lock Washer
5/16”-18 Hex Nut

DDA N
N B0 BR_NN

3/8” -16 x 1.75” Hex Bolt
3/8” - 16 x 2.5” Hex Bolt
3/8” - 16 Hex Nut

3/8” Flat Washer

3/8” Lock Washer

3/4” Nylon Spacer

Flat Head Screwdriver

1/2” Socket/Wrench

9/16” Socket/Wrench
Sharp Cutting Tool

INSTALLATION INSTRUCTIONS

Remove the front bumper cover and the foam
piece in front of the bumper beam.

Insert (4) 5/16” Bolt Plates into the holes shown.
Slide the Bolt Plates towards the center of the
vehicle.

Attach (2) Upper Brackets to the bumper beam.
Fasten with (1) 5/16’ Flat Washer, Lock Washer, and
Hex Nut on each Bolt Plate.

3

Insert (2) 5/16” Bolt Plates into the outer holes on
the lower radiator support. Hold up the brace to
verify fitment.




Attach the brace with (1) 5/16" Flat Washer and (1)
Lock Washer per side.

4

Carefully reattach the bumper cover with the
Upper Brackets through the grill as shown.

Attach the Light Bar as shown with (1) 3/8"x 1.75" Hex
Bolt, (1) Flat Washer, (1) 3/4” Nylon Spacer, (1) Flat

Washer, (1) Lock Washer, and (1) Hex Nut per side.

Attach the Light Bar to the Lower Brace with (1)
3/8"x 2.5" Hex Bolt, (2) Flat Washers, (1) Lock
Washer, and (1) Hex Nut.

L -
Cut the splash guard as shown by the tape.

. : _ ~ |
Cut the splash guard by following the outer crease
until the bar clears.

10




